Problem Set 1
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Figure 1: Robot equipped with an Infrared (IR) Range-Finder.
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Figure 2: Schematic of the robot in the room.
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(a) The Sharp IR distance sensor 20 + °
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(b) Calibration curve
Figure 3: (a) Sharp GP2YOAO2YKOF infrared distance sensor and (b) associated calibration curve.
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RefDistance[]={150,140,130,120,110,100,90,80,70,60,50,40,30,20,15}
RefVoltage[]={0.4399,0.4615,0.4976,0.5553,0.5913,0.6563,0.7212,0.8077,0.8942,
1.0457,1.2404,1.5289,1.9904,2.5240,2.7620}
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RoomTheta_Deg[]={0,30,60,90,120,150,180,210,240,270,300,330,360}

RoomVoltage[]={1.5340,1.2522,1.0802,1.2421,1.1975,2.1366,2.3675,2.0854,2.2532,
2.3363,2.1619,1.3673}
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